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1. y=f(x)0000 (plotfunc2d) 1

10 doodtdd

1 y=f(x)OOOO (plotfunc2d)

y=f(x)0000 (e¢0 20O d) plotfunc2d( f(x),x = a ..b)
y=f(x),y=g(z),---0000 (a0 20 b) | plotfunc2d( £(x), g(x) o,x=a.b)
y=f(x) 00000000 plotfunc2d( £(x,t),x =a ..b,t = t1..t5)

y=f(x)D000O0O0O0O0OO plotfunc2d 000000000 D0OOOO(DDOOOOODOOOOO
O00ooooooooo.)
yO0OUOO cO0yOdOOOODOOOOODOOOODOOOODOO

plotfunc2d( f(x),x = a ..b, ViewingBoxYRange = c ..d)

01 default 00, MuPAD O D00D0O0000000000000000O00OO0 Scaling=Constrained
000000 (default O O Scaling=UnConstrainedd O O.) O ViewingBoxYRangeO O O ScalingO O
000 option D000, MuPAD OO Attribute 000000

00000000 0D0D000O00D0O000O00DoOOMUPADD ODOODO DODOOOOOD OO
0000000000000 0000D00000000 Attribute O O Frames, TimeRange(O D OO,
O000)000000000O0default 00, Frames= 50, TimeRange=0..100 100000000
D02+ =500/0 00000000000 TimeRange =t;..t,00 0 000 VisibleBeforeStart =
FALSE VisibleAfterEnd = FALSEOOOOOOOOOODODOOODOOO ¢+, 00 t,O000O0ODO

gboooboooboooon

1.1 0000

—— Tutorial 1 (plotfunc2d)
(0<2010)00000000

y= log:t

oooooO,0000000000
e plotfunc2d(x/ln(x),x = 0..10)

y

01) 000 ViewingBoxYMin,ViewingBoxYMax 000 0000000000000 00.
plotfunc2d( £(x),x = a ..b, ViewingBoxYMin = c, ViewingBoxYMax = d)
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O<z<1O0000O0,000000000000000<2x<10000O %DDDDDDDDD

00000 ViewingBox U0 UO0O0OO0D0OO0OO0ODOOD ViewingBoxYMin=—100O00O0OO0OOOO
e plotfunc2d(x/1n(x),ViewingBox¥Min = —10,x = 0..10)

gbo,00o0ooobooo
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00000 OObject Browserd 0O interactive 10 0000000000000, 00000000
gbooboobdooobooboboooboboobooboooobooboooobon

/] presentationl.mn* - MuPAD Pro 4.0

File Edit Search View Insert Format Notebook Window Help

Q@ EH GNPy 10|t R
I

i1} presentationl.mn* - MuPAD Pro 4.0

File Edit View Tools Window Help
[eE@Qdr BQ|0R l+®& B4 15gpg

HDDDDD

0000000000 View—ObjectBrowser0 0000000000000 00000O0 200000
O00OO0OQCOCOCOOOUO O0O00Object BrowserDOOOOOOOOOOO

Obect Browser v x |
= [I Canvas
Sl Scene2d
=4

"~ Function2d

Property | Value I -
= Definition
 ViewingBoxXMin |-0.000000001
- ViewingBoxXMax |10.0
> -10] |
+ ViewingBoxYMax |5.74965017
- CoordinateType | LinLin
+ Scaling Unconstrained
- Name
[ Axes
& Tick Marks
& Grid Lines

ViewingBox 000000000000 Of CoordinateSystem2d | 00000000000 O[Definition|

00000000 ViewingBoxYMin=—1000O0OO0O00OOOOOOOODOO @DDDDDDDDD
00000000 M View — Recalculated 0 0O 0O, Recalculate(DO0 0 )00000(0D0 bug O,
Orecalculate O active 0000000000000,
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o0 oooobOobobooooboooooobobooO0o0 oboooooobOobobooooooo
ggooaano ’OpeninViewer‘DDDDDDDDD Vecam 000 viewer OO0 000000000
gbooobooboobbog viewer U000 0OO

Tutorial 2 (0 0)
mO0O000000000200

li: me—y=0 lo: z4+my—m-—2=0

gbooboooboooboboboboobo

00000000 0O0O00o0oO0 mx0000O0O

1 2
z+my—m-2=0y=——x+ mt
m

O000Q0QoCoCoOoOoOOODODODOOO0OO0O0000 O Scaling=Constrainedd 000000

eplotfunc2d(m*x, —1/m*x+ (m+ 2)/m, x = —1..3, m = —10..10

,ViewingBoxYRange = —1..3, Scaling = Constrained)

Yis Y Vs

-1 1 2 3 -1 2 3 -1 1 2 3
X X X

® mx

® mix
® ynv(m +2) - Umx

® Umi(m +2) - Um*x

Tutorial 3 (0O O O)
t0000000000000000,001:y=2tz—t* 0000000000

y=2tr —t? <= (t—x)> —2>+y =0
0000 C: y—2>=00000 COI00000000
(t—2)?=0<=ax=t(00)
000 COIl02x=t0000000(COI0000)MuPADD COI0000000O00O0

eplotfunc2d(x"2, 2xt*x —t"2, x = —5..5, t = —3..3);
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2 0000000 (low-level primitives)

0000000000000000000000000 "ow-level primitive” 000000200 (00O)
O low-level primitive O, 0000000 ODO0O00000OOD0ODOOOO0OOPplot::Circle00 OO0
O Oplot libraryD O OCircle0 00000000000 O0OOOOOO

plot :: Arc2d 00 (0D000) | Arc2d(r, [Cx, Cyl, a..5)
plot ::Arrow2d |00 (0O0O0O) | Arrow2d([xy, y1], [X2, ¥2])
plot :: Circle2d | OO Circle2d(r, [Cx,Cy])
plot :: Line2d oo Line2d([x1,y1], [x2,¥2])
plot :: Point2d | O Point2d(x,y)
plot :: Text2d O Text2d(” ---”,[Cy, Cy])

ooog,oo0d

e plot(plot :: Circle2d(3,[3,0])) ---00 (3,000,00300000

0000 plot() DO0OODOOOOOOOOOOOOCOOOOOOOOOODOOOOODOO

emycircle := plot :: Circle2d(3,[3,0]) ---00(@3,00,00 300 (mycircle)JOO
e plot(mycircle) ---mycircle 000000
0000 mycircle:= ---0000000mycircle 0000000000000 D0O00O0OOOR2

3 000000 (high-level primitives)

plotfunc2d 0000, 00000000000CODODOOOO0OOODOOOOODO”high-level primitive”
0000002000 high-level primitive 00O OO0

plot :: Function2d | y = f(z) D000 (DOOOO) Function2d(f(x),x = x1..Xp)

(£(
plot :: Implicit2d | f(x,y) =00000 (DO0OOO0O0O) | Implicit2d(f(x,y),x = X1..X2, ¥ = ¥1..¥2)
plot :: Curve2d 000o0ooo0oooo Curve2d([x(t),y(t)],t = t1..t2)

3.1 y=f(x) D000 (plot::Function2d)

Function2d D0y = f(x) 0000000000000 00000y=2%(—20202) 0000000
oooobooog

o f :=plot :: Function2d(x"2,x = —2..2)

e plot(f)
0000plotfunc2d 00 00O Jplotfunc2d(x”2,x =—2.2) 0000000000000 0OFunction2d
O, 00 primitive ( plot :: Curve2d, plot :: Circle2d00 )OD000OO0O0OOOUDOOOOOO

02)gp0,00000 0000000000 00000plot :: CIrcle(3,[0,3) 0 000 30,000 (3,0)0000000
(object) 000 O plot(object) 0,00 O (object) 0DODDODOODODOO




3. 000000 (high-level primitives)

32 000000000000 :@= f(t),y=g(t)0000 (plot :: Curve2d)

z=f(t),y=g(t) (0 ¢t0b)000000000000000 object O

plot :: Curve2d( [£(t),g(t)], t =a..b)

— Tutorial 3.000000

ooooog:
{x:t—sint 2 e
y=1-—cost P(gp,y)\‘k
0ooo g
(@] t 2

000000000000 0000Scaling=Constrainedd 00 00O00.

e mycycloid := plot :: Curve2d([t — sin(t),1 — cos(t)],t = 0..2 xPI):

e plot(mycycloid, Scaling = Constrained)
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3.21 [JO0OO0O0OOOOOOOOOO]

27

gb100000 PO, 0000000000000C00O00D001000000000000O00
00000000 t¢t0o0ooo0ooooo (,L,)oooooo

00 (41),00 100 : (z—t)2+(y—1)2=1
00000000 o000 PO0): z=wu—sinu, y=1—cosu (00 w0 t)
OpP: r=1t-—sint, y=1—cost

00000000000ooOO00O (o0 tU 2r) 0 DO0OOOOOOOO

emycircle := plot :: Circle2d(1, [t,1], t = 0..2 % PI, Color = RGB :: Blue) :
---000 1,000 (¢,,1))00000
emycycloid := plot :: Curve2d([u — sin(u),1 — cos(u)], u=0..t, t = 0..2 % PI)

e mypoint := plot :: Point2d([t — sin(t),1 — cos(t)], t = 0..2 % PI)
ob0,0000 plot ODODODO

e plot(mycircle, mycycloid, mypoint, Color = RGB :: Black)

Y, v, v, [
1 1 1 \®
0 1 2 3 4 5 7 1o 1 2 3 4 5 5 7 1o 1 2 3 4 5 6 7
x X x

DS’)ElmycircleEIElElElElH:I]Color:RGB::BlueElDDDDDU]]DDDD mycircle D0 O0000000O00O0O0OO
0 Color = RGB :: BlackOO Omycircle 0000000000000 O0O plot()00000000O0 Attribute 00000
0000 object 1O00DO0O0OO0DOOOOODOOO Attribute 00000000000

-1 6

0 3)

emycircle := plot :: Circle2d(1, [t, 1], Color = RGB :: Blue) :

emycycloid := plot :: Curve2d([u — sin(u),1 — cos(u)], u = 0..t)

e plot(mycircle,mycycloid, mypoint,t = 0..2 % PI, Color = RGB :: Black)
000,00000000000000000Oplet( )00 0D0DODOOOOODOOODOOOOODODOODODOODOO
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20 4Ooouottdb gtdbooodd

0000000 (Cebri 0OOOPY 0,000000000 ODOOODS00000000000
0d0o00oooo0o0oU0ooU0(ob0 Uoo,000000UUO0, 000000000 DOoo.) ooo

0oo0ooooo (200 /10)OoooOooOoroOOOOOOODOOOOOOODOOO0OOO0OO0
gogbooobgo2b000d

(1) 00000 interactive (000) 000000
(2)00000 animation (00)000000.

() 000000 D0O000O0U0O0O0 UOOU0O0OUOo0OU00OO0,000000DOO0ODOOOo
gobobugooboobuogbobobobooboooobuoobouooboboonogaon
webpage 000000000 DO0OO0OOOOOODOOODOOODOOOOOOOODOODOOODOO
goooo pCcOO0O0OOOOOOOOOOOOOOOOO

(2000000000000 0C000000O0OUO0O0ODOO0OU0ODO0O0O0ODOUOOUOODO ODOOo
0000000 00000000000, P% 00000000000000000000

ubooooooooboo ooon:

in 0 1-— 0 1 1
lim 227 — 1 = sin g0 6, lim — % = cos 00 1 — =62,
0—0 0 0—0 62 2

-1 log(1
lir%e =1l<=¢e"'0 14z, lin})leﬁlog(l—Faj)D x.
xr— x xr— €T

ocGUODOOO O0OO0DOsiné0 30000

_ O—sind 1 R IOV
g%T—E@smG—G—FEG +0(0°)

gogboobobooboobobooboobooboobobbob 0D plotdbOoobOooo

22 +220 1, 22 +y20 1, 4 +220 10000000.(00 20050)

22 +4%0 22, 220 2, 00 0 100000000000000. (00 19940)

A(1,1,0),B(~1,1,0),C(~1,—1,0),D(1,—1,0),P(0,0,3) 0000000 PABCDOOOOOO
00 22+42=1000000000000000. (00 19980)

A:y?+22=1,B:2?2~V322+22=1 0000 A0000000000 (00 19920)

00000:224+y*=1,:0y+1000y=k00000000000000.(0000)

04) Cabri 00000 Cinderella 0000000000000 Cabrillplus(2D 000000) 0 Cabri3D(3D 000 000)
000000000 Cabrillplus O Cinderelle 0000000000000 000000000000 Cinderella 0000
000000000000000000000000000 (0000000)000000000000 Cebri8D 0 0000
000 (000000)0000000000000 (000000000 )0000000000 1000000000

05 poo0e0O00000O0,000004 00000 (»n-1)00000000 ADDOODDD o 40000000

P71AP=(}9), P1A,P=(§3) 0000000000 {Ag} (k=0---n)000.
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Ooo0oo0oooo@o)yood

Dgir%SiHG:IDDDDDDDDD
y
POOOOOOOO POO 200000000000 HOO \
OOPO Beosl,sinl) 00000000000 A(L,0)00 P(cos x.sin x)

goooooboood

2

=
x

00 PHOOO  PH
OPAOOO =~ ZAOP

X

x=0.58333166

sin(x)= 0.55080770

ooooboooooog.

(sin x)/x=0.94424448

e tmin := 0.001: - gb00ob0oooboobooootoogoon
e Circle := plot :: Circle2d(1,[0,0],LineStyle = Dashed, Color = RGB :: Black) :
e 1ineOP := plot :: Line2d([0, 0], [cos(t), sin(t)],t = 1..tmin) : ---(0,0) O (cost,sint) D00 OO
e linePH := plot :: Line2d([cos(t), 0], [cos(t), sin(t)], Color = RGB :: NavyBlue,t = 1..tmin) :
e arcAP := plot :: Arc2d(1,0,0],0..t,Color = RGB :: Green,t = 1..tmin) :

--00 1,00 (0,0),0060 t0 OO

e arcX := plot :: Arc2d(0.2,[0,0],0..t,t = 1..tmin, Color = RGB :: Black) :

e pointX := plot :: Text2d(”x”,[0.2,0]) : --020000000 (0,2,00000
e pointP := plot :: Text2d("P(cosx, sinx)”, [cos(t), sin(t)],t = 1..tmin) :

e pointH := plot :: Text2d("H”, [cos(t),0],t = 1..tmin) : text 00000000000
e pointA := plot :: Text2d(”A”,[1,0]) :

e SinX := plot :: Text2d(t— > "sin(x) = ".stringlib :: formatf(sin(t),8),[2, —0.75],t = 1..tmin) :
e X :=plot :: Text2d(t— > "x = 7.stringlib :: formatf(t,8),[2, —0.5],t = 1..tmin) :

e SinXoverX := plot :: Text2d(t— > ”(sinx)/x = ”.stringlib :: formatf(sin(t)/t,8),[2, —1],t = 1..tmin) :
e plot(Circle,1lineOP, linePH, arcAP, arcX, pointX, pointP, pointH, pointA, SinX, X, SinXoverX

, TicksNumber = Low, Frames = 100);

Oplot :: Text2d(”---7,[x,y]0O0DO.-- OOO000O0O0O (x,y) DOO0OO0O0OO0OD0OD0OODODOODOOO
gobbooboooobooboobbooobooboobobboobobobbo obooboobb ->0
000000P® 0000020 0000 »000000000000 O stringlib : formatf(x,n)0
goobooooobuo20b000db0ob0boboobobboooooboobobooob.Ooooo
00000 OSinXoverXO OO OUOOOD t— > ”(sinx)/x = ”.stringlib :: formatf(sin(t)/t,8)0
good DSHTMDDD 000080000000 UOODOY(sinx)/x="000000000000
oooooooog. @9

06 0->0000000000000000000000 f(z)=2200000

efi=x— >x"2 >>x — o

o £(3),£(4) >>9, 16

D7) 00 (expression) 00000 (text) 0000000000 D0expression O text 00D OO expr2text 000000
007 "00000000000¢t— > ”(sinx)/x = ”.expr2text(sin(t)/t)] 00000 00000000000000000
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U340 doottd

1 y=f(x,y) JO0ODO (plotfunc3d)

z=f(z,y) D000 (¢0 20 b, cO y0O d) | plotfunc3dd( £(x,y),x=a .b,y=c..d)

z=f(z,y) DOODOODOOO plotfunc2d( f(x,y,t),x=a.b,y=c..d,t = t1..ts)

z=f(z,y) DOO00OO0O0O0O0O0O plotfunc3dd DO OO0, 00000000000,
U ViewingBoxZRange = z;..z,00 0 U0 DO O 0ODO.

O (plotfunc3d)

fle,y) =a? =20y +2° —4y+5 (=10 205, —10 yO 5) ()

oboooboooo ocooooboooon

e plotfunc3d(x"2 —2*x*y+2+xy 2—4xy+5x=—-1.5y=—1.5)

Neey
LSS

QAN >
LSS0 S OS>
A RSS2

Oz=(z—y)2+(y—2)?2+100000,z=y=20000 000000000000000000
0000D00000000000 ViewingBoxZRange 10000000000

e plotfunc3d(x"2 —2*x*xy+2%y'2—4%y+5x=—1.5y=—1..5ViewingBoxZRange = 0..5)

08)

U8) 200000, plot(plot :: Function3d(f,x = x1..x2,y = y1..y2)) 0 000 Oplotfunc3d(f,x = x1..x2,y = y1..y2) 000
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2 0000000 (3d low-level primitive)

3000 low-level primitive 0 OO OO

plot :: Arrow3dd |00 (DUOO) | Arrowdd([xy,v1, 21, [X2, Y2, Z2])
plot :: Box ooo Box(xi..Xg, y1.-Y2, 21--22)

plot :: Circle3d | O Circle3d(r, [Cx, Cy, C;], [ng, ny,1,)])
plot :: Cone oo Cone(Tpase; [Cx; Cy, Cz|, [Dx, Dy, Dz])
plot :: Cylinder | OO Cylinder(r, [Cx, Cy, C;], [Dx, Dy, D))
plot :: Line3d oo Line3d([x1,¥1,21], [X2, ¥2,22])
plot :: Point3d | O Point3d(x,y,z)

plot :: Sphere O Sphere(r, [Cy, Cy, C,])

plot :: Text3d O Text3d(”---”, [Cx, Cy, Cz))

21 OUOoOgooboobooo

211 0000000000

Tutorial 1

20 A(1,0,0), B(0,1,2) 00000 AB .
0,-000000000000000 Q
ooooooooo? =t——>B 012

| —~ y
N

A P(cosf,sin0,0)

x

0ABO :0000064000000,0000 P,QDOOOD
. ™ (T
P(cosf,sin,0), Q(cos (?—FG) ,sin (5 +9) ,2)
000000000 D00ooO0 pPQUODODOOOCODOODOOODOODOO
esegment := plot :: Line3d([cos(t), sin(t), 0], [cos(t + PI/2),sin(t + PI/2),2],t = 0..2 % PI):
gob 20000000 plotd0non

eupperCircle := plot :: Circle3d(1,0,0,2],Color = RGB :: Gray50) :
elowerCircle := plot :: Circle3d(1,[0,0,0],Color = RGB :: Gray50) :

eplot(segment, upperCircle, lowerCircle)
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2.1.2 0000 (QOOOOs$00OO0ODO)
oodooooooooooobobbbbbO 000000000 4000000000000000,

plot :: Line3d([cos(0), sin(0), 0], [cos(PI/2),sin(PI/2),2]),
PI/20),sin(PI/20),0], [cos(PI/20 + PI/2),sin(PI/20 + PI/2),2]),
2 % PI/20), sin(2  P1/20), 0], [cos(2 % PI/20 + PI/2), sin(2 * PI/20 + P1/2),2]) - - -

plot :: Line3d([cos(39 * PI/20), sin(39 % P1/20), 0], [cos(39 x PI/20 4+ PI/2),sin(39 * PI1/20 + PI/2),2])

plot :: Line3d(|cos

plot cos

([cos(
([cos(
([cos(
([cos(
0000000000000000000000000$00000 00000000000000°99

e segments := plot :: Line3d([cos(PI/20 x k),sin(PI/20 x k), 0],
[cos(PI/20 *k + PI/2),sin(PI/20 xk + PI/2),2]) $k = 0..39 : @

gbd0O00plotOOOO

e plot(segments,upperCircle, lowerCircle)

09 0$00000000000000

k"2 $k = 1..3 >>1,4,9
1 3
esin(k * PI/6) $k = 0..3 >> 0, bR %, 1

000oo0sooO00oo0O00O0O,0000D000bO0OOOoDOoDOoO.
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2.1.3 0O TimeRange O 00O

000000000 (e0¢0b) 000000000000 TimeRange =2.b0 00000

O VisibleBeforeStart = FALSEO OO 0O0OVisibleAfterEnd = FALSEOOOOOOOOOOO
0 10)

gboooooobooooobooooboobooooboooooboobooon

eSegments := plot :: Line3d([cos(PI/20 x k), sin(PI/20 x k), 0],
[cos(PI/20 xk + PI/2),sin(PI/20 xk + PI/2),2], TimeRange = 0.25 xk..10 ) $k = 0..39 : @

TimeRange = 0.25x k.10 00 00@ 00000000000 0OOO

plot :: Line3d([cos(0), sin(0), 0], [cos(PI/2),sin(PI/2), 2], TimeRange = 0..10),
plot :: Line3d([cos(PI/20),sin(PI/20),0], [cos(PI/20 + PI/2),sin(PI/20 + PI/2),2|, TimeRange = 0.25..10) - - -
plot :: Line3d([cos(39 * PI/20), sin(39 * PI/20), 0], [cos(39 x PI/20 4+ PI/2),sin(39 « PI/20 + PI/2),2]

, TimeRange = 9.75..10)

0000000000000 00000000OVisibleBeforeBegin=FALSEOOOOOOOOO
O0plot0O0O0 OO TimeRange O UO00O0DOO0OOODOOODOOOOODOO ODDOOOOO
gbooooooboooo

eplot(Segments, upperCircle, lowerCircle, VisibleBeforeBegin = FALSE)

011)

=
=
<7

<

32

V.

|

S
S

— s

=

==

=

i

il

N
\

NN KOS
R

0 10) Default 00 O TimeRange = 0..100 00000000
O 0oo0o000000000000000 OTimeRange 000000000, 000 100000000000000000
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3 DoOoooo0o00 (high-level primitives)

0000000 high-level primitive OO 0 OO0

plot :: Function3d | z = f(z,y) D000 (DOODOO)
Function3d(f(x,y),Xx = X1..X2,¥ = y1..Y2)

plot :: Implicit3d | f(x,y,2)=00000 (0O00O0O0O)
Implicit3d(f(x,y,2),x = X1..X2, ¥ = ¥1..Y2,2Z = Z1..Z3)

plot :: Curve3d goooboooogoo
Curve3d([x(t),y(t),z(t)],t = t1..ta)
plot :: Surface oooooooooa

Surface([x(u,v),y(u,v),z(u,v)],u = us..us, v = vy..Vp)

3.1 [DDDDDDD]

012)

»00000,000000 p0000000000 P,0P(z,y,2)0 2
000000 p,PO0 200000000000 Q,2y0000000
O0O0OOOR,ORO20000000060000000

x = pcosl
y = psind ()
z=2z

odb00000000010D000 20000000, 000000 DOOO
(x,y,2) = (cosf,sinf,z) (0060 < 27,00 20 2)
Oo0ooMuPADOOODOOOODOOOOO

e cylinderZ := plot :: Surface([cos(u),sin(u),z], u=0..2%PI, z=0..2):
e plot(cylinderZ)

-10 -10

012) O low-level-primitived O plot :: Cylinder J OO O0ODOOODOO
ecylinderZ := plot :: Cylinder(1, 0,0, 0],[0,0,2]) ---000 1,000000(0,0,0),000000(0,0,2) 000
000 plot:Cylinder 000000000000 O0OODOOO
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Tutorial 2
20000 Cp: y?+22=1, -202020 Cy: 2?2 +22=1,-20y02 (C, 02000000
0040000C,0y000000004000)000.000000000 00 2=k000
0000000o0ooooooooooo

Q(v, u, cosa)

00oo00o0doD 0000000000 fO00O0ODOODOOODOO C, 000 PO
P(v,cos <%+9),sin (%4—9)) =P(v, —sin#6, cosb)
0000000000000o0oD C, 00,00 z=cosa (00 «0m) 0000000000
C.' : (w,y,2) = (v, —sinf, cosd), —20 v0 2, a060 27 —a NO)
0000 z=cosal0 C,00000000000000 Q(z,y,2) O
oo : (z,y,2) = (v,u,cosa), —20 v0 2, —sina0 w0 sina @
0000000000000000(00D00000)0,00000 object DOODO

ecyX := plot :: Surface([v, —sin(t), cos(t)],v = —2..2,t = a..(2 * PI — a));

eplaneX := plot :: Surface([v,u,cos(a), v=—2..2, u = —sin(a)..sin(a));
0o c,000000000000 (x0y0000D00O),

ecyY := plot :: Surface([—sin(t), v, cos(t)],v = —2..2,t = a..(2 * PI — a));

eplaneY := plot :: Surface([u,v,cos(a), v=—2..2, u = —sin(a)..sin(a));
000000 e« (00«0 00000O00OOOOOOO.

eplot(cyX, cyY,planeX, planeY, a = 0..PI, Scaling = Constrained, Color = RGB :: Aqua);

<7

Wrs*
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3.1.1 0OOO0OO0OOO0OOOOOOO0O

J00ogn
zyz OO OOO

2 +y?01---@, 2°4+2201---Q, *+2201---0

0000000000000 000U0oooOo(@oO -00 (@) 20050)

000000 Cr:2?24+y2=1, Co:2?2+22=1,C3:9y*°+22=1000000 @O@O0O0O000
0000 pOODOOOODOODOOOODDODOOOODO(@ON)

Oz2+¢%0 100 22+ 2%0 10

Ci: 224+9>=10 0 P(cosf,sinf,0) 000 20000000 m(A)0D0D0000DODO

T cos 0 cos
m@): [y |=|snd|+t|0|=|sng| ¢0D0D)
z 0 1 t

m()0 C, 0000 22+22=100000

cos26’+t2=1<=)t=:|:m=:|:sin0
O0o0O0Om(P)0 C,0000000
Q(cosf,sinf,sinf) O R(cosb,sinf, —sinf)
000 poOoOooooO c;o0oooooon

cos
= |sin@ |, (0060 27, —|sind| 0 v O |sinf)) e (%)

v

IS IS

000 MuPAD OOODOO0OOO0OO (PO 00000000000 O0OO)00000000O0OOOOO
O0x0000000000O000000U0COO0O0O0.(D0COOoOoOoDUooOoooooog.)

T cosf
yl| = sin 6 , (0060 2w, —10 k0O 1) o ()
z k-sin6
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00 DO0OO0OOUOO ¢,0000000,00000 (yO z000000)

T cos
y|=1k-sing|, (0060 27, =10 k0O 1)
z

sin 0
000 D0O0O0O0,000000000000000000 uwline (uO00O0OO00)000OO0OOOOO
OULinesVisible = FALSEOOOOOOOOOOOO VLinesVisible = FALSEOOOOOOOO
ecyZ := plot :: Surface([cos(t),sin(t),k * sin(t)],t = 0.2 PI,k = —1..1,
ULinesVisible = FALSE, VLinesVisible = FALSE) :
ecyY := plot :: Surface([cos(t),k * sin(t),sin(t)],t = 0.2 PI k = —1..1,
ULinesVisible = FALSE, VLinesVisible = FALSE) :
eplot(cyZ, cyY)

z,y,2 0000 00O plot000 DOODOOO(ODODO0)OO Ccs00000000O0O

e cyX := plot :: Surface([v,cos(t),sin(t)],t = 0..2*%PI,v=—2..2):
e plot(cyZ, cyY, cyX)

00000000«,y,20000 OO0 plot000 OOOOOOOOOO(OOO)

z




1. 00,00

[ 4[]

1 00,00

Joogudood

oo : Ihiréf(x) limit(f(x),x = a)
oo: 4 diff(£(x),x)
o000 : [ f(z)de int(f(x),x)
ooo : jab f(z)dz | int(f(x),x=a..b)

0000000000,000000004diff, int000000OPS

e diff(cos(x),x) >> —sin(x)
e int(sin(x),x) >> —cos(x)
O (cosz) = —sinz, [sinzde =—cosz0 000ODDOO0DODODOOOOOO
e int(sin(x),x = 0..PI) >> 2
. . - 3-m
e int(sin(x)"4,x = 0..PI) >> =
m OOPI |:|DDDDDDDADD,DDDDDDDDDDDDDDDEIOWSiHl‘d{L‘ = [—Cosaj]g = 20
0 f sin*ede =3 000000000000000000000
o1l

O000000:z=t—sin(t), y=1—cos(t) (00 tO 2m)
O:00000000D0O0O0O S, 0000D0Ox00
oooobOoboOoOobOobooovobooo

27

27 2 de 27 ) 2 5 da
S:/ yd:c:/ y ——-dt, V:/ Y d:c:/ mTye —=dt
ooogd
[0 0] eint((1— cos(t)) xdiff(t —sin(t),t),t = 0..2 x PI) >> 3w
[0 0] eint(PI* (1 — cos(t))"2*diff(t — sin(t),t),t = 0..2 % PI) >> 5’

O13) qiff O dif ferenciate(0000) 00 int O integral 00000
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2 Joooon

000 f=00200000 solve(f = 0,x) 00O solve(f,x)
000 f>00 200000 solve(f > 0,x)
ooodo f=0,9=0,---0 z,y,---00000 | solve( {£f=0,g=0,---}[x,v,---])

014) 0ppOO00(0000000)00000000000f(x)=0000000000solve(f = 0,x)
000 solve(f,x)J0000000000000D00 solve(f) 0000 00000000000

esolve(x"2—3%x+2,x) >>{1,2}

x20 2?2003%x0 3200000000000 2%2-3z—-2=0000 {1,2}0 00000000
01) QoUo0o0000000z?—ay=6, 3> —yz=-—2000000000

esolve({x* —x*xy=6,y> —y*xx =2} [x,y]) >>{[z=-3,y=-1],[r=3,y=1]}

02
00C: y=e*,001:y=a(l<a<e 0000

¢=1,y0 00000000 20000000000 8 .
000000000S0000S000000 «000

0000

O000OUe 0000 assume 0000000000 (DO00O0OO0OOOOOOOODOOOOOOOOO
assume 00000000000 O0ODOOOOOO)

e assume(l < a < E) >> (1,¢e)
0000000000000 00mM e 000exp(x)0000O.O

¢3S := int(abs(exp(x) —a),x = 0..1) >>e—3-a+2-a-1n(a)+1
SO «000O0O0OSODOOO0ODDO eOOOOODOO

e diff(S,a) >>2-1n(a) —1

e solve(%, a) >> {/e}

Oae=+e000 SO000000000OOsolve(%,2)000%00000000000000000OO
0 16)

04 0gpU00o0,0000 {}000000([] 0000000000000 O0solve({f=0,g=0,---},[xy,---]) 00O
solve( {f =0,g=0,---},{x,y,---} ) O0Osolve( [f=0,g=0,---],[x,y,---] ) 00000000

015 30,40000000000000 default 00 20000000000000000000 30,40000000000
000000 MaxDegree = 3,Maxdegree = 40 0000000 000 MaxDegree =300000002% +6x—2=00000
ooooo

e solve(x"3 4 6 x x — 2, x, MaxDegree = 3)

2 2 2 2 2
3 43 4% /I 3 43 i 3 4% J4 4%

— , -t . 44— )-V3, —- 4 . —
>>{\/ 3 1 5 2 \/—i— 3 V3 3 \f—&- 2 V3 2 + 1

016) goooOo000O0D0D0000000%2,%3,---0 00000
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3 0000 (@ooo,o00,000)

fo00 expand(f)
fO0O00O0 | factor(f)
foooo simplify(f) 00 O Simplify(f)

gobOoo0d factcor oo

eeql:=(a—b)"3+(b—c)"3+(c—a)"3 >> (a—0)* —(a—c)* + (b—c)?
0000000(—-bP+(b—c)P+(c—a)?®0,eqt 0000000000

e factor(eql) >>-3-(b—c)-(a—c)-(a—D)
000000 expand DO OO0

e expand((x — y)?) >>a% — 2%y -3+3-x-y* -y

0000 (00,0000,00,00000000000000000000000000000000
00 simplify, 000 Simplify 0000000000000 D (000000000000 radsimp
00000000000000000000))

x? 4-x—3
2:=(x"2 "2—1)—(4 -3 2—1 —
ez = (2)/(x2- 1) - (Axx-9)/(x2-1) s> - T
oD simplify 0000000000
z—3
implify(% >>
e simplify(%) 1

0%000000000000000000(8000)00000symplify(eq2)000000000
Ologs 7 - log; 9 - (logs 5+ log, 5) 0 000000 0N log, x0 O O1logla,x)00000000)

e eqg3 :=1log(5,7) * 1og(7,9) x (Log(3,5) + 10g(9,5)) >> (logs(5) + logy(5)) - log,(9) - logs(7)
simplify OO0 O QOOOOOOO

e simplify(eq3) >> (log4(5) + logy(5)) - log;(9) - logs(7)
goboobOoboboobooobo0Obsimplify DO0O00OOODOOOO

e Simplify(eq3) >>3

00 Simplify OOMuPAD 3.00000000000simplify00000000ODOOO, 0000000
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4 00,0000

4.1 0O0O,00000040

2x200 (29%) matrix([[a,b],[c,d]])
Doooa(y), (b) matrix([[a], [b]]), matrix([[a], [b], [c]])
00ooo (a,b), (a,b,c) matrix([a,b]), matrix([a,b,c])

00 00000 Omatrix 000 Onatrix([ [000],[0 20],--,[0 n0]])0000,0000000
ematrix([[2,5,7]]) >> (2,5,7)
3
o V:=matrix([[3], [4],[5]]) >> |4
5

matrix([[2,5,7]]) 0000000 (25,7 00) 000, 000000000 0matrix([[3], 4], [5]]) O
00030000,00000000000000 []000000000%Y 0000000000

ggo ' 1 9
e A:=matrix([[1,2],[3,4]]) >> - ---A000

e B:=matrix([[1,2],[-1,-2]]) >> (_11 2 > ---BOOO

42 0O0,000000000

gboooobooboooobooboobooooon

5 10
e 2+xA+3%B >> ) ... 2A4+3B

-1 -2
) . AB
-1 -2

(
(
> (_77 _150> .BA
( 2
(
(

e AxB >>

— 1

-1
- _1> A
2 2

1
2
10 A2
15 22

°
-

~
=
\
\Y

017 00D []0000000000D0OODOOOD

3
oV := matrix([3, 4, 5]) >> (4)
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4.3 linalg (0000000000)

000000 (Doo0 JordanOOO0OOOOO)0 ODO0OOOOOOOODOOOOOODOOOOOOO
linalg (library for linear algebra) 000 0000000000000

e linalg :: scalarProduct(u,v) -wOdwooo
e linalg :: angle(u,v) -whwoooo
e linalg :: rank(A) ---A000 (rank)
e linalg :: charpoly(A,x) ---A0 (00D0zO000)0D000OO
e linalg :: eigenvalues(A) ---A000O0
e linalg :: eigenvectors(A) ---A0000000
e linalg :: jordanForm(A) -+ A0 jorden OO0 (ODOO)

2x20000000000(0O0DOOOOOOOO0Y)

2 1
e A:=matrix([[2,1],[3,4]]) >> (3 4>
e linalg :: rank(A) >> 2
e linalg :: charpoly(A,x) >>2?—6-2+5
e linalg :: eigenvalues(A) >> {1,5}
-1 1
e linalg :: eigenvectors(A) >> | |1,1, ) , 15,1, i
1 0
e linalg :: jordanForm(A) >> (0 5>
5 Uogg
> oheq Ak sum(a(k),k = 1..n)

F(k+1)—F(k)=a(k)0D0OO F(k) sum(a(k), k)

ﬁéﬂMDDNMﬂMx:anDDDDf@+fo@%:HMDDDDF@HﬂMDDDDD)
k=1

00 sum(f(kx),x)00000000%9® 000

o sum(k?,k = 1.n) >s (2'7”61) (n+1) Y g2 = n G
o sun(k?) s kB K
sum PR — -
6 2 3

00000 00000000000 o00Uo(LOo0o0oU0bL UooOoUoooooUoooog -+

018) O sum(£(k),k = a..b) 0 sum(f(k),k)0 0000 O int(£f(x),x = a..b) 0 int(£f(x),x)000000000.
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gobobobooggn

googobooon

oood
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6.2 UOUOOOOOO 0000
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gboooa:oobo

oboooooooboo

0;00000 0@00)000

oooooo oo

Shift |+ | Enter

oboooooooo

/)

00000 /+---#/0
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ca+bla+b

:a—bla—b

caxblaxb

D a/b

Oo|jo|o|g

O:a" |a'n

6.4 UOOOODO

sinx sin(x)
cos x cos(x)
tan x tan(x)
a® _power(a,x) 000 a"x
e* exp(x) 00O Ex
log, = log(a, x)
logz(000O0O) 1n(x)
ooo |z abs(x)
0000000 float(x)
~000) PI
(00000D0) E
oco(00O0O) infinity
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